Notes 8.1-8.3.notebook

March 25, 2020

Write the equation for each.

1. parabola \/;a(x—-lj +k
. 2 %3
2. ellipse (x-h) . e |
at bt

Tt & ?Xg

(D Find Ha Retetmraandt
If dut=0 noe Tuterre

® [ipi] o= |-

Nov 19-10:08 AM

Nov 19-10:14 AM

, 2 £d ellipse

ﬁnJruJ e center, vartices

(x—‘t)m (y+2>1: |
*
Center (4,-2)
Vectives ("':‘) & 100
) (‘1,—{1_) Q=0
focs (‘f, (.) (L'f’°)

at_p=
loo -3‘:‘4’

F.'pﬂl"tj He First Forms

L
a = i Frad o fimt 9 dxrms
n" e
—S(IY"- -s
2
s> _
q,="SR.
2
- %S
q_?: r(z'? _~
=73 -6 ¢
Y T ’l""

a,=

_S——
’Z_IS- T -~

~

o - -¢

(’
({

s
2
)
S
3
0

Nov 19-10:19 AM

Nov 19-10:25 AM

-2,-9,-16,723, ...

FI.A‘ +l\l quI|'=I.+ Qr-w.‘&
a - {test frimn
= n=—I J \
a" ) al + < ) d = d-’C—Qn--.fp

N
qy‘:"l +(n —,)(—1)

Q,= =2 +-Tn+7]

Sulm o f Seprmes

F174..4052%
@ Z + 17 Qu S - n (ql.‘.ab
" T a

@ av": QI+(P|—DG'
®S“-_ 130(7 +652) bsa= 7+(n:§l-
>

(S22 74 Sn-%
Sy 12oLsa)
bsv=s$Y

(S2= Sat2
3 £
2

&,

Nov 19-10:29 AM

Nov 19-10:32 AM




Notes 8.1-8.3.notebook

March 25, 2020

Sum ok Sepnes
< - n(ate)
137 " 2
® = (25+i)= a.= o+ (n-D)d

S,= M -3(+N=%
2 =3(3)+)) = ~too
S,: 137(8-400)
PR
%= 26352

-+7.7 ‘&l
Factoxi res#32]

7is!

& 3!

2
4,.7_(?—.7_(_ Y3

(7."5'.') |

Gisl) = ?

Nov 19-10:32 AM

Nov 19-10:42 AM

F,‘,.JI'M3 Zoverse 323

66

A- |5 o -2

Fl‘aﬂl'ms Zoverse 353
Aet= 30
_s § ©
Az | 2 o -2
-l 3-5
.\v"‘ ‘0’0
o —z, 2 -2 2 oT
A - S5 - - ~l 3
-15--¢ ~r -
$ 0 -5 0 —#I‘G ¢ e ++f
'3_5_ RS g3l |TpE e o
-jo /10 =lo
$ o -
o= S‘_o -5 e
27 Za J 33 25 fO
-0 ~lo -10

Nov 19-10:45 AM

-l B3-S
o -2 2 -2 2 0
At =S [ ~ - |—S A+~
(—s =13
* = S(0+6) ~ 5 (~10-2)
= =20 +60
<3
Nov 19-10:45 AM
Fl'n‘l‘hszmvx'“ 3x3
d.:‘f‘= 30
-s S ©
A= 2 O -2
-1 3-S5
b b G 25 =i
w2 05 a0
~lo ~lo 10 o
e s
A"_\_ 6 25 ~pp| (L aF 'éf-g
- 20 2 25~ ~p| =3 32 %
LG ] &Y 3£ j‘
6 /0 N ® T8 3o ii’
L o -p A3
Jo 3o v

I 4 -t
2 57
30 -2
s -2 2 =7 s
,/a—z —f|3|tC
3 SN

o =4 (42)-4()
-0 + 190 =90

0

Nov 19-10:45 AM

Nov 19-11:08 AM



Notes 8.1-8.3.notebook

March 25, 2020

Nov 19-11:19 AM

=-30
- 6 S Py
2 -2 o
-1 =S 2
_0-"
2 o i e ’
-5 2 - 2 (‘21 _:_) ~6 & %y .4
° T ‘*:5; -5 o0 15~ 15| — +t -
e /_l 3 —r/ o ~w 0| t-F
M R SR
z 0 2 o 2 -2 e e -
jo 10 lo
- 2 s
L _L— 10 = _C _li
30 L —lo ERE AR
~R=s|o \: :;.__JL
ST
Nov 19-11:11 AM
Fm—«_‘oblg
p \,J|£? s

= )(7— ?:Fﬂuq;:z \F/
X ey ) e
X< ‘{(?)y K=20
Xl—. Ky X3-20

X% Yoo

Nov 19-3:02 PM

(X _"‘)7-: 4P(\[—k>
y=x* UN
(y-kY = Ip(~)

&2 20D

\ B }ﬂ-)
:L“I'F‘.::‘"$ L/F=—:

G, Lpzet 0 7 QD
s " KPR
Yt% 7_-\—-\2-__5

Axrs of S\[uqm;(m, 1@(
= yp=-1
P:‘l

Nov 19-3:08 PM



	Page 1
	Page 2
	Page 3

